

On Identities of Locally Left Seminormal Orthodox Cryptogroup^①

WENG Li, LIU Guo-xin

School of Mathematics and Statistics, Southwest University, Chongqing 400715, China

Abstract: The purpose of this paper is to give some identities of locally left quasinormal orthogroups and locally left seminormal orthogroups respectively. It also proved that a completely regular semigroup is a left seminormal cryptogroup if and only if it is a locally left seminormal orthodox cryptogroup.

Key words: variety; locally left seminormal orthodox cryptogroup; left seminormal cryptogroup

CLC number: O152.7

Document code: A

Throughout this paper, S stands for a completely regular semigroup and $E(S)$ is the set of idempotents of S , a^{-1} is the inverse of a in \mathcal{H} .

Recall that S is an orthogroup if $E(S)$ is a subsemigroup of S . An orthogroup S is a \mathcal{C} orthogroup if $E(S)$ belongs to a class \mathcal{C} of bands. If Green relation \mathcal{H} is a congruence on S , then S is called a cryptogroup. A cryptogroup S is a \mathcal{C} cryptogroup if S/\mathcal{H} belongs to a class \mathcal{C} of bands. A orthodox cryptogroup is an orthocryptogroup.

Denote by $\mathcal{L}(\mathcal{CR})$ all subvarieties of completely regular semigroups and let \mathcal{V} be a subvariety of completely regular semigroups. S is a locally \mathcal{V} -semigroup if $eSe \in \mathcal{V}$ for any $e \in E(S)$. In fact, the locality method is very important in semigroups algebraic theory. We know that a completely regular semigroup S is a completely simple semigroup if and only if S is locally a group, and S is a normal cryptogroup if and only if S is locally a Clifford semigroup.

Now, we list some special notations, which we will use later.

\mathcal{CR} is the class of completely regular semigroups; \mathcal{O} is the class of orthogroups; S is called a orthogroup if $a^0b^0 = (a^0b^0)^0$ for any $a, b \in S$; \mathcal{BG} is the class of cryptogroups; S is a cryptogroup if $(ab)^0 = (a^0b^0)^0$ for any $a, b \in S$; \mathcal{OBG} is the class of orthocryptogroups; \mathcal{LQNO} is the class of left quasinormal orthogroups; S is a left quasinormal orthogroup if $efg = efeg$ for any $e, f, g \in E(S)$; \mathcal{LSNO} is the class of left seminormal orthogroups; S is called a left seminormal orthogroup if $efg = efge$ for any $e, f, g \in E(S)$.

All terminology and notations which are not explained can be found in references [1-3]. Now, we give the main results of the paper.

Lemma 1^[2] $S \in \mathcal{L}\mathcal{L}\mathcal{RO}$ if and only if S satisfies the identity $axy = axy(ay)^0$.

Lemma 2^[2] $\mathcal{L}\mathcal{RO}\mathcal{BG} = \mathcal{L}\mathcal{S}\mathcal{NB}\mathcal{G}$.

① 收稿日期: 2010-06-06

作者简介: 翁利(1986-), 女, 河南信阳人, 硕士研究生, 主要从事半群代数理论的研究.

通信作者: 刘国新, 副教授.

Proposition 1 $S \in \mathcal{LQNO}$ if and only if S satisfies the identity $axb = axa^0b$.

proof Let $S \in \mathcal{LQNO}$. For all $e, f, g \in E(S)$, we have $efg = efeg$. Let $a \in S$, since $efg = efeg$, $aea^{-1} \in E(S)$ and Corollary II. 5. 2 in reference [1], we have

$$\begin{aligned} eae f &= ea(a^{-1}a)ef = ea(a^{-1}a)e(a^{-1}a)f = e(aea^{-1})af = e(aea^{-1})(aa^{-1})af = \\ &e(aea^{-1})e(aa^{-1})af = eaea^{-1}eaf = (ea)e(a^{-1}e)af = eaa^{-1}eaf = \\ &(eaa^{-1}eaa^{-1})af = (eaa^{-1})af = eaf \end{aligned}$$

So for any $x, b \in S$, we get $axb = aa^0xb^0 = a(a^0xa^0b^0)b = axa^0b$.

Conversely, if S satisfies the identity $axb = axa^0b$, one has $S \in \mathcal{LQNO}$.

Theorem 1 $S \in L\mathcal{LQNO}$ if and only if S satisfies the identity $axy = axy(ay)^0$.

proof Let $S \in L\mathcal{LQNO}$. For all $a, x, b, y \in S$, by Proposition II. 7. 3 in reference [1] and Proposition 1 we have

$$(yay)(yxy)(yby) = (yay)(yxy)(yay)^0(yby)$$

Substituting $a \rightarrow xa$, $x \rightarrow ax$ and $b \rightarrow y$, we get

$$(yxy)(yaxy)(yyy) = (yxy)(yaxy)(yxy)^0(yyy)$$

Postmultiplying it by $(y^3)^{-1}$, we have

$$(yxy)(yaxy)(y^3)^0 = (yxy)(yaxy)(yxy)^0(y^3)^0$$

Since $S \in \mathcal{CR}$, we have $y^0 = (y^3)^0$. So

$$(yxy)(yaxy) = (yxy)(yaxy)(yxy)^0$$

Premultiplying it by $(yaxyxay)^{-1}(yax)$, we get

$$(yaxyxay)^0(yaxy) = (yaxyxay)^0(yaxy)(yaxy)^0$$

By Corollary II. 4. 3 in reference [1] and $(yaxyxay)^0 \mathcal{R}(yaxy)$, we have

$$yaxy = yaxy(yaxy)^0$$

Premultiplying it by $(axy)^{-1}(ax)$, one gives $axy = axy(yxay)^0$. Postmultiplying it by $(ay)^0$, we obtain $axy = axy(ay)^0$.

Conversely, assume that $axy = axy(ay)^0$ for any $a, x, y \in S$. Let $e \in E(S)$, and $b, c, z \in eSe$. Then $(bc)^0 \leq e$, $(cb)^0 \leq e$, $(bc)^0 \mathcal{R}(cb)^0$, so

$$(bc)^0 = (cb)^0(bc)^0e = (cb)^0(bc)^0e((cb)^0e)^0 = (cb)^0$$

Postmultiplying it by $(b)^0$, we have $(bc)^0b^0 = (bc)^0$. Then $bc = bcb^0$, so $bcz = bcb^0z$. By Proposition 1 we get $S \in L\mathcal{LQNO}$. By Lemma 1 we get $L\mathcal{LQNO} = L\mathcal{LRNO}$, by Proposition II. 8. 4 in reference [1] and Lemma 2 we have $L\mathcal{LQNOBG} = L\mathcal{LRNBG}$.

Lemma 3 $L\mathcal{LQNO} \subseteq L\mathcal{LRNO}$.

proof Let $S \in L\mathcal{LQNO}$. For any $e, f, g \in E(S)$, we have $efg = efeg$. Postmultiplying it by eg we get

$$efgeg = efegeg = efeg = efg$$

So, we have that $efg = efgeg$. Then we get $S \in L\mathcal{LRNO}$, so $L\mathcal{LQNO} \subseteq L\mathcal{LRNO}$.

Proposition 2 $S \in L\mathcal{LRNO}$ if and only if S satisfies the identity $axb = axb^0a^0b$.

proof Let $S \in L\mathcal{LRNO}$. For any $e, f, g \in E(S)$ we have $efg = efgeg$. Then for any $a \in S$, we have $(afefa^{-1})(afefa^{-1}) = a(afea^{-1}afea^{-1}a)a^{-1} = afe a^{-1} \in E(S)$. Since $efg = efgeg$ and Corollary II. 5. 2 in reference [1], we have

$$\begin{aligned} eafe f &= ea(a^{-1}a)fef = ea(a^{-1}a)(fe)f(a^{-1}a)f = \\ &e(afe a^{-1})af = e(afe a^{-1})aa^{-1}af = \\ &e(afe a^{-1})(aa^{-1})e(aa^{-1})af = \\ &(eaf)ef(a^{-1}eaf) = eafa^{-1}eaf = \\ &eaf(a^{-1}aa^{-1})e(aa^{-1}a)f = \\ &e(afa^{-1})(aa^{-1})e(aa^{-1})af = \end{aligned}$$

$$\begin{aligned} e(afa^{-1})(aa^{-1})af &= \\ ea(a^{-1}afa^{-1}af) &= ea(a^{-1}af) = eaf \end{aligned}$$

So for any $x, b \in S$ we obtain $axb = aa^0xb^0b = a(a^0xb^0a^0b^0)b = axb^0a^0b$. So S satisfies the identity $axb = axb^0a^0b$.

Conversely, if S satisfies the identity $axb = axb^0a^0b$, one has $S \in \mathcal{L}\mathcal{L}\mathcal{N}\mathcal{O}$.

Theorem 2 $S \in \mathcal{L}\mathcal{L}\mathcal{N}\mathcal{O}$ if and only if S satisfies the identity $axy = axy(ay)^0$.

proof Let $S \in \mathcal{L}\mathcal{L}\mathcal{N}\mathcal{O}$. For all $a, x, b, y \in S$, by Proposition II. 7. 3 in reference [1] and Proposition 2 we have

$$(yay)(yxy)(yby) = (yay)(yxy)(yby)^0(yay)^0(yby)$$

Substituting $a \rightarrow xa$, $x \rightarrow ax$ and $b \rightarrow y$, we get

$$(yxa y)(yaxy)(yyy) = (yxa y)(yaxy)(yyy)^0(yxa y)^0(yyy)$$

Postmultiplying it by $(y^3)^{-1}$, have

$$(yxa y)(yaxy)(y^3)^0 = (yxa y)(yaxy)(y^3)^0(yxa y)^0(y^3)^0$$

Since $S \in \mathcal{C}\mathcal{R}$, we have $y^0 = (y^3)^0$. So

$$(yxa y)(yaxy) = (yxa y)(yaxy)(yxa y)^0$$

By the proof of Theorem 1 we have $axy = axy(ay)^0$.

Conversely, let S satisfies the identity $axy = axy(ay)^0$. By Theorem 1 and Lemma 3 we have $S \in \mathcal{L}\mathcal{L}\mathcal{N}\mathcal{O}$.

So we obtain:

Theorem 3 $L\mathcal{L}\mathcal{R}\mathcal{O} = L\mathcal{L}\mathcal{Q}\mathcal{N}\mathcal{O} = L\mathcal{L}\mathcal{S}\mathcal{N}\mathcal{O} = [axy = axy(ay)^0]$.

Theorem 4 $L\mathcal{L}\mathcal{R}\mathcal{O}\mathcal{B}\mathcal{G} = L\mathcal{L}\mathcal{Q}\mathcal{N}\mathcal{O}\mathcal{B}\mathcal{G} = L\mathcal{L}\mathcal{S}\mathcal{N}\mathcal{O}\mathcal{B}\mathcal{G} = \mathcal{L}\mathcal{S}\mathcal{N}\mathcal{B}\mathcal{G}$.

Symmetrically, we get:

Theorem 5 $L\mathcal{R}\mathcal{R}\mathcal{O} = L\mathcal{R}\mathcal{Q}\mathcal{N}\mathcal{O} = L\mathcal{R}\mathcal{S}\mathcal{N}\mathcal{O} = [axy = (ay)^0axy]$.

Theorem 6 $L\mathcal{R}\mathcal{R}\mathcal{O}\mathcal{B}\mathcal{G} = L\mathcal{R}\mathcal{Q}\mathcal{N}\mathcal{O}\mathcal{B}\mathcal{G} = L\mathcal{R}\mathcal{S}\mathcal{N}\mathcal{O}\mathcal{B}\mathcal{G} = \mathcal{R}\mathcal{S}\mathcal{N}\mathcal{B}\mathcal{G}$.

References:

- [1] PETRICH M, REILLY N. Completely Regular Semigroups [M]. New York: John Wiley & Sons, 1999: 74–75.
- [2] LIU G X, SONG G T, ZHANG J G. An Identity of Locally Left Regular Orthodox Cryptogroups [J]. Advances in Mathematics, 2008, 37(2): 206–210.
- [3] HOWIE J M. An Introduction to Semigroup Theory [M]. London: Academic Press, 1976.
- [4] 黄磊, 喻厚义, 谷伟平. 稠密相对正则语言的一些性质 [J]. 西南大学学报: 自然科学版, 2008, 30(8): 49–51.
- [5] 马淑云, 张佳. 相关系间的相关映射 [J]. 西南大学学报: 自然科学版, 2008, 30(12): 4–8.
- [6] 裴俊. 能够表示成真正规子集并的完全单半群 [J]. 西南大学学报: 自然科学版, 2010, 32(2): 109–112.

关于局部左半正规纯正密码群并半群的等式

翁利, 刘国新

西南大学 数学与统计学院, 重庆 400715

摘要: 给出了关于局部左拟正规纯正密码群并半群和局部左半正规纯正密码群并半群的一些等式. 证明了完全正则半群是左半正规密码群并半群当且仅当它是局部左半正规纯正密码群并半群.

关键词: 簇; 局部左半正规纯正密码群并半群; 左半正规密码群并半群